Get out a Formula
sheet!!

...and prepare for a 4!!
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1. How are potassium atoms and ealeium
atoms similar?

stame number of valence electrons

same oxidation number

same number of protons
same number of energy levels ;

1
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PERIODIC TABLE OF THE ELEMENTS
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2, An element on the far left side of the
periodic table will have what —'f"
property? o\"
& a tendenecy to aveid reactions
2

a tendency to share electrons -
hen reacting

i a tendency to Eﬂin elaectrons when "‘J—: ‘

_ reacting
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3. Which elements would mos# lilkelv
react with Group 2 (2ZA) metals?

——

allkkali metals

C

gy om
D tl’xutlun metals
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Which elements are in the same

period?

A lead and sodium

silver and tin

B
C
D

tin and lead

oxyvgen and helium
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5. Which compound is formed when
aluminum bonds with fluorine?
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6. Which pair of elements wil,
readily form a compound?

1 and Ne

B LiandF

Li and Be

D Liand BL
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Which compound is most likely formed using covalent bonds?

1.
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8. Ateacher demonstrates a decomposition reaction. Which would he a correct

demonstration’ v t) —é mj O

A burning magnesium in LI? presence of oxygen to produce magnesium oxide

~ —

B burning methane in the presence of oxygen to produce carbon dioxide and water

<t 04 —S CO
@\mg an electnfa mﬁ}ﬁnugh water to prnducT]Tdmgan aﬁﬁm
D reacting iron with oxygen '[ﬂ-[lzﬁ%l& h‘un['IE] uﬂﬁl— 'f_ O\K

F«e.ma/‘goj




9. Which equation represents a double replacement reaction?

A 2KClO, —» 2KCl+30, Dec;

r2 £ Na,C0, » CaC0, + 2NaBr DR

C Zn+S-ZnS 5\7/|
D 2Li+FeBr, - 2LiBr+Fe ¢ 2



10. A chemical reaction 1s represented by this equation.

oFe,0, - @

What 1s a product of this chemical reaction?
=

SA—TPe

B—F
—B—Fe0,
R




11.  Which 1s a correctly balanced chemical equation?

?L K,C0, +BaCl, » KCl+BaC0,
05. +BaCl, — 2KCl+ BaCO,

)( K,CO, +2BaCl, - 2KC1+ BaC0),

X K,CO, +2BaCl, - KCl+ 2BaC0),



exnthm micHA student mixes the two
emicals in a test tube and touches
the side of the test tube. Which
statement describes the student’s
observation?

@‘he test tube becomes hot as heat
1s released.

—

B The test tube becomes hot as heat
1s absorbed.
e

C The test tube becomes cold as
heat is released.

D The test tube becomes cold as
heat 1s absorbed.



13.  Solutions ﬂflE%(IIJ nitrate and
potassium dichromate are mixed. The

solution turns cloudy and yellow.
articles fall to the

ottom o eaker. Which
statement best deseribes this

reaction?
DV+__(ag) >
( A A precipitate @ ‘f) __"G—)‘L"

B A gas formed.

C The reaction 1s exothermiec.

D The reaction is endothermic.



14.

Solubility (grams of solute per 100 grams of water)

=

Solubility Curve
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Temperature (°C)

Which solute exhibits the W to temperature change?

A H,Cl
CB ko
i HCIl

D




15. Inan experiment, a researcher collected the following information about a solution made

from a certain food:

| e [ <
Cich LN
P ]

*reactivity = reacts with metals
Based on the information, what best describes this solution? / k,"

®

B base
C  salt

D neutral



16. This iz a pH chart of common materials.

| B Baking
Cheese Soda
l | | | | | | | | | | |
[ | | I I | | I | | | | [
0 1 3 5 T 9 11

Which substance 1s the most basie?

Cola 5"-7%7\

A
B Cheese
C Baking Soda

DD Bleach



17.  Which action would mest effectively
slow down the dissolving of a sugar
cube in water?

mling them

B crushing the sugar _5_? e d df"

C heating the water ¢ "/

D stirring the water 77 ‘<,



18.  Which substance in water will conduct
electricity? —_—

| o
7 ey O

C sugar \K
D vegetabte-eil




19.  The loss of an alpha particle has what
effect on the atomie number and mass
number of an atom?

1c number and mass number
decrease.

Atomic number increases; mass
number decreases. -

Atomic number decreases; mass
number inereases.

—

Atomic number and mass number




20.  Which best contrasts nuclear fission and nuclear fusion?

)qjlssmn splitting of small nuclei /7’70

sion: joining of large nucler

_ 20
n: splitting of large nuclei
usion: joining of small nuclel™
>< fission: joining of small nuclel O >
fusion: joining of large nuclei O
fission: needs extr EIT.LEI}T ow temperatures

lon: nee r temperatares than fission




